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1. ��	����������
��� 
!��" 

  �����	
��
������������	
� ��)&1#���7)����$
'���������
 ��
������%�����������
	
� ��)&1'�����.>� '���������
��	
� �,-��	��'�����.>�  (Particle size analyzer) �0,-�����2&�
'����<0�.�'�����������-����������#����
'�����.>� '���������
%������>�02�)��� 22 
 

 
#
$%��	
� 22  %��������)��
$�	'����.>� �.#
����
1��$�	�
*���������
 
  ������	
� ��)&1�����)��
$�	'����.>� �.#
����
1���������
 0�	*���.>� 
�.#
����
1�)��
������)��
$�	�
<*���*	� 9.28 - 41.86 micron �������������6#'�������)��

$�	'����.>� �2�������#,��'����<0�.�'��������� ��
�d�e�����#,��'����<0�.�$*�'���
��.>� ��
�/#�-
�)�#,������$���*	� 1:10 (Cheryan (1998)) 
  �����������d�e�����#,��'����<0�.�'��������� ����#,��������������-��'��� 
0.1-5 micron &#����������������������
��	
� ��)&1 *� 	���2;� ���-�*�� (pH)  *����%'	�#�
 
(Suspended Solid) %#) *�5����� (Chemical Oxygen Demand, COD) 5�-�6#'�����	
� ��)&1�)
%������$���� 11 
 

�
�
� 11 6#	
� ��)&1#���7)����$
'���������
����*��$
������'���)��������%��$)�����*� 
                �����������&���)�#%�*%'+� 

���
"'
��� 
 ('
(�
�!%)� 

	��-�'
� 

('
�
������
" 

(mg/l) 

('
 COD 

(mg/l) 

�������
 6.9 - 7.4 1500-3500 105-152 
(6#'�� *�5������2;�6#��� �������
$�	�
*����-$����
���	��&�$�$)����2;��	#� 30 ���� %#)����*	���-
����	
� ��)&1) 
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2. ���
�$
�
��!�
���'
�4 �'
!$
��!
�5��	6� 

  �����	
��
�����������������$�	%2�$*��A ��-��6#$*�2�
��7�0��
���!#��51 ���%�* 
 	����� ��$������&#  	���'��'��'�����2?�� %#)'����<0�.�'��������� 5�-��2;�$�	%2���-
��� �4$*���)�	��������%����� �!"#�$����%������&#'	�� ��
������&� *���-�&��)��
'��$�	%2�$*��A ���<2'������� 	�����0��:1��	
�2�%��� Response Surface Method �0,-��)
����&���� *��0��
���!#��51'����������������
�<��.� %#) .7>�0'������&#�����6*���������
$���6*����781��$�9��'���������
 
  2.1 ���
�(�
�����'
!$
��!
�5��	6������	���	
��$�'�
�
�7#
( 

 ��������6#'�� 	�����$*��0��
���!#��51��
�&� ��$������&#  	���'��'��
'�����2?�� %#)'���'���<0�.� �� *� ���- ,� 1.75 Lpm  1500 mg/l  0.1 micron $��#����� ��

�������2#�-
�%2#� *�'�� 	�������- 5 %#) 15 psi %#)����������������&���'���������
��-6*�����
�����.�A 10 ���� �)�&+����	*� *��0��
���!#��51'����������
������- 	����� 15 psi �)�� *�
�0��
���!#��51��
-�$���<��	*���������
������- 	����� 5 psi ���*	�%��'����������
����  ���
������- 	������<��)�&� *��0��
���!#��51�<����*	� 10-20 ����%��'�����������,-�����
����*
��
����!�	#
���6
	&���'��������� 5�-�&#��������� *��0��
���!#��51�)#�#��
*���	���+	
��,-�����6#'�������
� ���5��$�����0#����5���%#)!�	#
� 

�0��
���!#��51��
-��'���<*�(��) �$�	 %���	*� 	��$����������&#��
-� ���-��

 *��0��
���!#��51���&�����������
������- 	����� 15 psi �)�� *���*���� 14.63 L/m2.hr 5�-�$-���	*�
��������
������- 	�����$-�� ,� 5 psi ��-��� *��0��
���!#��51�<��	*���
�� *���*���� 23.16 L/m2.hr 
���>�02�)��� 23 

���>�02�)��� 24 %���6#'�� 	�����$*� *��0��
���!#��51��
�&� ��$�����
�&#  	���'��'��'�����2?�� %#)'���'���<0�.� �� *� ���- ,� 1.75 Lpm 1500 mg/l 5 micron 
$��#����� ��
�������2#�-
�%2#� *�'�� 	�������- 5 %#) 15 psi ��
 *��0��
���!#��51���&���
��������
������- 	����� 15 psi �)�� *���*���� 16.89 L/m2.hr 5�-�$-���	*���������
������- 	�����$-��
 ,� 5 psi ��-��� *��0��
���!#��51�<��	*���
�� *���*���� 27.58 L/m2.hr  ��*����
	���>�02�)��� 25 
%���6#'�� 	�����$*� *��0��
���!#��51��
�&� ��$������&#  	���'��'��'�����2?�� %#)
'���'���<0�.� �� *� ���- ,� 1.75 Lpm 3500 mg/l 5 micron $��#����� ��
�������2#�-
�%2#� *�
'�� 	�������- 5 %#) 15 psi��
 *��0��
���!#��51���&�����������
������- 	����� 15 psi �)�� *�
��*���� 15.52 L/m2.hr 5�-�$-���	*���������
������- 	�����$-�� ,� 5 psi ��-��� *��0��
���!#��51�<��	*�
��
�� *���*���� 23.47 L/m2.hr 
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��,-�������������
������
����0
-� 	������)����&� ��.>� '���.#
����
1(<�
%�������-�<��	*����$�	�����6
	'�����������
�����.�$����6
	'������������'��� ������#���
2���e���71 ���5��$���-��0#����5���/� �� (<����%�*����'��� ����&������(������$�	(<�
#)#�
������ ���������$������&#6*���������'�����#)#�
���#�#� �����
���#�����(��
�'���
���)
)�	#���-�	���+	��� ��������
������- 	������<��)����&���.>� �.#
����
1'���������
(<����
%�*��0
-����'�������&�����&#6*��'���0��
���!#��51#����
#� %���#���7)���%0�*'��
��.>� �.#
����
1���&������������- 	�����$*����� ���>�02�)��� 26 
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#
$%��	
� 23  %��� 	�����0��:1�)&	*���0��
���!#��51����	#� ���&�����������������
 

 	���'��'�� SS '�����2?�� 1500 mg/l 6*���5##<�#����$����������'��� 
0.1 �� �����	
 	�����$*�������- 5 %#) 15 psi ��-��$������&# ���- 1.75 Lpm  
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#
$%��	
� 24    %��� 	�����0��:1�)&	*���0��
���!#��51����	#����&�����������������
 

 	���'��'�� SS '�����2?�� 1500 mg/l 6*���5##<�#����$���������'���  
5 micron ��	
 	�����$*�������- 5 %#) 15 psi ��-��$������&# ���- 1.75 Lpm  
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#
$%��	
� 25 %��� 	�����0��:1�)&	*���0��
���!#��51����	#����&�����������������
     
                	���'��'�� SS '�����2?�� 3500 mg/l 6*���5##<�#����$���������'���      
               5 micron ��	
 	�����$*�������- 5 %#) 15 psi ��-��$������&# ���- 1.75Lpm  
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(�
������ 
     (�
�����G� 

#
$%��	
� 26    %������%0�*'����.>� �.#
����
1�)&	*����������
������- 	�����$-��  
     �2��
����
������- 	������<� 
��-��: ��$�� �
�)��$�����1, 2541 
 

2.2 ���
�
���
	
�IJ��'
!$
��!
�5��	6������	���	
��$�'�
�
�7#
( 

��������6#'����$������&#$*��0��
���!#��51��
�&�  	�����  	���'��'��
'�����2?�� '���'���<0�.� �� *� ���- ,� 5 psi 3500 mg/l %#) 0.1 micron $��#�������
������
�2#�-
�%2#���$������&#��- 1.25 %#) 1.75 Lpm %#)����������������&���'���������
��-6*�����
�����.�A 10 ���� 0�	*���-��$������&#��-�<��	*� ,���- 1.75 Lpm �)��� *��0��
���!#��51��*���� 
19.98 L/m2.hr 5�-� *��0��
���!#��51�)�<��	*���������
������-��$������&#��-$-�� ,� 1.25 Lpm 5�-�
�0��
���!#��51�)�����*���� 9.4 L/m2.hr ���>�02�)��� 27 

���6#�����#�� ����2#�-
�%2#���$������&#0�	*���,-���$������&#�0
-�'���
 *��0��
���!#��51��-����� *��<�'��� ��,-���������0
-���$������&#�2;�����0
-�%���/,����6
	&���
�����������&���.>� '���.#
����
1��*�����(���)$
���-6
	&������������� �2;�6#$*����%0�*�#��
'����.>� ���6
	&�����������0
-�'��� #����
�����)�)&	*���������%#)��.>� '���.#
����
1 %#)
��.>� �����.>� ��	
������ ����������#� 	��$��������
��#'������!�	#
-� !�	#
-���-��
�#����
#�
����&��0��
���!#��51�0
-�'���%#) 	��$������#�#� 5�-������(�:
��
������>�02�)��� 30 
  ���>�02�)��� 28 %#) 29 5�-���������#����- 	�����%#) 	���'��'�� ���-��-
15 psi  5 psi %#) 3500 mg/l 1500 mg/l ���6#�����������
	�����7�>�02�)��� 27  ,� ��,-�
��$������&#�0
-�'��� ��- 	���'��'��'�����2?��   	�����%#)'���'��������� ���- �)��� *�
�0��
���!#��51���'��� 
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$%��	
� 27   %��� 	�����0��:1�)&	*���0��
���!#��51����	#����&�����������������
 
 	���'��'�� SS '�����2?�� 3,500 mg/l 6*���5##<�#����$���������'���    
0.1 micron ��	
��$������&#$*�������- 1.25 %#) 1.75 Lpm ��- 	����� ���- 5 psi  
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#
$%��	
� 28 %��� 	�����0��:1�)&	*���0��
���!#��51����	#����&�����������������
 

 	���'��'�� SS '�����2?�� 3,500 mg/l 6*���5##<�#����$���������'��� 
0.1 micron��	
��$������&#$*�������- 1.25 %#) 1.75 Lpm ��- 	����� ���- 15 psi  
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#
$%��	
� 29   %��� 	�����0��:1�)&	*���0��
���!#��51����	#����&�����������������
 

 	���'��'�� SS '�����2?�� 1,500 mg/l 6*���5##<�#����$���������'��� 
0.1 micron ��	
��$������&#$*�������- 1.25 %#) 1.75 Lpm ��- 	����� ���- 5 psi                                
 

6#�����#������#*�	��� #������6#�����#��'�� �.	
���'71 &*�����	
�
$�, 2546 5�-����������
��#�������������q��-���
��� �!"#�$����%������&#'	����-��$������&#��-%$�$*����� 0�	*�
��-��$������&#�0
-�'����)����&� *����������'��'��%'+�#����
#� ��,-���������0
-���$������&#
�2;�����0
-�%���/,������&��0
-� *��0��
���!#��51%#)#� *� 	��$���������������  

 

 
#
$%��	
� 30   %���(����.>� �.#
����
1'���������
��-#�
$�	��,-�������0
-�%���/,����6
	&��� 
                             �������  
��-��: ��$�� �
�)��$�����1, 2541 
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2.3 ���
���
��G$�7��
�!��!����'
!$
��!
�5��	6������	���	
��$�'�
�


�7#
( 
��������6#'��'����<0�.�$*��0��
���!#��51��
�&� ��$������&#  	��

�'��'��'�����2?��  	������� *� ���-  ,� 1.25 Lpm 1500 mg/l %#)5 psi $��#�������
������
�2#�-
�%2#�'����<0�.���- 0.1 %#) 5 micron %#)����������������&���'���������
��-6*���������
�.�A 10 ���� 

���6#�����#������2#�-
�%2#�'����<0�.�'��������� 0�	*��0��
���!#��51
�)#�#��
*���	���+	���*	� 10-20 ����%��'����������
����%#)�)�'���<*�>�	) �$�	�������
��,-����������
�����)��'����.>� �.#
����
1�2;������ ����-6
	&���������� ��
���������-��
'����&4* (5 micron) �)��� *��0��
���!#��51��- 19.63 L/m2.hr �<��	*����������-��'����#+� (0.1 
micron) 5�-��0��
���!#��51�� *��0�
� 11.13 L/m2.hr ���>�02�)��� 31 ���&�����������6#'��
'����<0�.�$*��0��
���!#��51��
�&� ��$������&#  	���'��'��'�����2?��  	������� *� ���- 
 ,� 1.75 Lpm 3500 mg/l %#) 5 psi $��#�������
�������2#�-
�%2#�'����<0�.���- 0.1 %#) 5 
micron ��
���������-��'����&4* (5 micron) �)��� *��0��
���!#��51��- 23.47 L/m2.hr �<��	*�
���������-��'����#+� (0.1 micron) 5�-��0��
���!#��51�� *��0�
� 19.98 L/m2.hr ���>�02�)��� 
32 5�-����6#�����������
	�����7�>�02�)��� 31  ,� �����#����- 	�����$-�� 5 psi ����&���
�
����.�$���2;�%��� �� (cake) �0��)/)�����0��
���!#��51'���)����-����������'��� 0.1 
micron ���$-���	*����������-��'����&4* ��,-������������
�����(6*�����������-���<0�.�'����&4*���
����	*����������-���<0�.�'����#+� �0��)��.>� ��-(<�����	���6
	&���'�����������-��'����<
0�.��#+��)�� 	��&��%�*�'���.#
����
1'���������
��� ����&� 	��$��������������
�!�	#
-�
�<��	*����������-���<0�.�'����&4* ��������
������- 	�����$-������&���.>� '���.#
����
1��*(<�
���%�*���6
	&���'��������� %#)�������
��'�����.>� �&4*�	*�'����<0�.�'������������ 
%���#���7)���%0�*'����.>� �.#
����
1'���������
���&�����������
������- 	�����$-�� ���
>�02�)��� 33 
  6#�����#������#*�	��� #������6#��-�����������#��'�� Jiffrin (1993) 5�-�
���������2#�-
�%2#��0��
���!#��51'���	�1 ��,-�����6*�����������-��'����<0�.�$*��A  ,� 0.1 
0.2 0.4 0.8 1.5 %#) 3 micron 0�	*��0��
���!#��51�)#�#��
*���	���+	���*	� 20 ����%��'��
������� 5�-����������-��'����<0�.��&4*�)�� *��0��
���!#��51��-�<��	*� ��,-��������2?��
�����(6*���������������	*� %$*!�	#
-���-��
��2;�!�	#
-���-��
�>�
���<0�.�%#)6
	&���������� 
����*�6#�&��0��
���!#��51#�#��
*���	���+	 
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$%��	
� 31    %��� 	�����0��:1�)&	*���0��
���!#��51����	#����&�����������������
      
 	���'��'�� SS '�����2?�� 1,500 mg/l 6*���5##<�#����$���������'���
$*�������- 0.1 %#) 5 micron ��- 	����� 5 psi %#)��$������&# 1.25 Lpm 
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#
$%��	
� 32    %��� 	�����0��:1�)&	*���0��
���!#��51����	#����&�����������������
  

 	���'��'�� SS '�����2?�� 3,500 mg/l 6*���5##<�#����$���������'���
$*�������- 0.1 %#) 5 micron ��- 	����� 5 psi%#)��$������&# 1.75 Lpm 
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  ������� 5 �� ���   ������� 0.1 �� ��� 
#
$%��	
� 33  %���#���7)����.�$��'����.>� '�����#)#�
���&����������'��� 5 %#)  
  0.1 micron ��-��������
����������- 	�����$-�� (5psi) 
��-��: ��$�� �
�)��$�����1, 2541 
 

���6#�����#������2#�-
�%2#�'����<0�.�'�����������
�&���$������&# 
 	���'��'��'�����2?��  	������� *� ���-  ,� 1.25 Lpm 1500 mg/l %#) 15 psi $��#�������
���
����2#�-
�%2#�'����<0�.���- 0.1 %#) 5 micron %#)����������������&���'���������
��-6*�����
�����.�A 10 ���� 0�	*����������-��'����<0�.��&4* (5 micron) �)�&� *��0��
���!#��51�<��	*�
���������-��'����<0�.��#+� (0.1 micron) ��- 	������<� ,� 15 psi ���*	�%��'���������%$*��,-�
�	#�6*���2���������-��'����<0�.��#+��	*��)�&�2�
��7�0��
���!#��51��#�� �
���� ���>�02�)��� 
34 (���
*�����+$���0��
���!#��51�����������-��'�����������&4*�	*� (5 micron) �)�&� *�
�0��
���!#��51��- 13.01 L/m2.hr �<��	*�'������������-�#+��	*� (0.1 micron) ��
�0��
���!#��51
�� *��0�
� 11.08 L/m2.hr ��*����
	��������#����- ��$������&#  	���'��'��'�����2?��  	��
����� *� ���-  ,� 1.25 Lpm 3500 mg/l %#) 15 psi $��#�������
�������2#�-
�%2#�'����<0�.���- 
0.1 %#) 5 micron 0�	*��0��
���!#��51�����������-��'�����������&4*�	*� (5 micron) �)�&�
 *��0��
���!#��51��- 11.16 L/m2.hr �<��	*�'������������-�#+��	*� (0.1 micron) ��
�0��
���!#��51
�� *��0�
� 9.57 L/m2.hr ���>�02�)��� 35 

 ���>�02�)��� 31 %#) 34 ��-�����#����-  	���'��'�� ��$������&# ���
	���
 ,� 1500 mg/l 1.25Lpm 0�	*����������- 	������<� (15 psi) �)�&� *��0��
���!#��51$-���	*����
������- 	�����$-�� (5 psi) �.�'���'�����������-��#�� ,� 0.1 %#) 5 �� �����,-����� ���
������- 	������<��)����&���.>� �.#
����
1���������
(<����%�*� ����>�
���<0�.�%#)��6
	&���
'�������������	*���������
������- 	�����$-�� ����&� *� 	��$�������������.�$���<�'��� 
�0��
���!#��51#�#� %#)���&������������-�������'����&4* (5 �� ���) ��- 	������<� 
0�	*��0��
���!#��51#�#��
*����� ��,-��2��
����
������������
������- 	�����$-�� 5�-�%$�$*��
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������������-�������'����#+� (0.1 �� ���) 0�	*��0��
���!#��51�)��*%$�$*��������
�)&	*����������
����������- 	������<�&�,� 	�����$-�� ��,-�������.>� '���.#
����
1��'���
�#+��	*�'���'���<0�.�'����&4* (5 �� ���) �������&���.>� �.#
����
1��
�����.�$��>�
���<
0�.�%#)��
�����.�$����6
	&���'�������������	*����������	
�������'����<0�.���-�#+��	*� 
(0.1 micron) 

2���e���71����#*�	��
� ��,-���������������<0�.�'����&4* %$*��.>� �.#
����
1
'���������
��-��'����#+��	*�'����<0�.�'�����������
�������)$
�>�
���<0�.� �������2�
��7
�0��
���!#��51���#�#��
*���	���+	>�
�� 10-20 ����%��'����������
���� ������������
�����
��������>�
�$� 	������<� �)����&�������%�*�'����.>� �.#
����
1���������
(<����
�#�
�2;�� ���0
-����'����	*���������
������- 	�����$-�� �*�6#�&������� 	���)���
�����'���
��	
 ������#�����(��'����<0�.�'����������#+��	*���.>� �.#
����
1'���������
 ��.>� �)��*
�'���2���)$
�>�
���<0�.�%$*�)���)$
���6
	&��������������&���.>� (<��������� ��
�����.�
$��%#)���%�*�'��� �����'���  %���#���7)���%0�*'����.>� �.#
����
1'���������
���&������
�����
������- 	������<� (15 psi) ���>�02�)��� 36 
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#
$%��	
� 34   %��� 	�����0��:1�)&	*���0��
���!#��51����	#����&�����������������
 

 	���'��'�� SS '�����2?�� 1,500 mg/l 6*���5##<�#����$���������'���
$*�������- 0.1 %#) 5 micron ��- 	����� 15 psi %#)��$������&# 1.25 Lpm 
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#
$%��	
� 35   %��� 	�����0��:1�)&	*���0��
���!#��51����	#����&�����������������
 
                              	���'��'�� SS '�����2?�� 3,500 mg/l 6*���5##<�#����$���������'���  
 $*�������- 0.1 %#) 5 micron ��- 	����� 15 psi %#)��$������&# 1.25 Lpm 
 

 
  ������� 5 �� ���        ������� 0.1 �� ��� 
 

#
$%��	
� 36  %���#���7)����.�$��'����.>� '�����#)#�
���&����������'��� 5 %#)  
                0.1 micron ��-��������
����������- 	������<� (15psi) 
��-��: ��$�� �
�)��$�����1, 2541 
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2.4 ���
�(�
�!�P��P��
��
�%Q
��'
!$
��!
�5��	6������	���	
��$�'�
�


�7#
( 
  ��������6#'�� 	���'��'��$*��0��
���!#��51��
�&� ��$������&#  	����� 
'���'���<0�.� �� *� ���- ,� 1.25 Lpm 15 psi %#) 5 micron $��#�������
�������2#�-
�%2#�
 	���'��'��'�����2?����- 1500 %#) 3500 mg/l %#)����������������&���'���������
��-6*�����
�����.�A 10 ����0�	*���- 	���'��'��'�����2?���<� (3500 mg/l) �)�&� *��0��
���!#��51
��*���� 11.16 L/m2.hr ��
�� *�$-���	*����2?����-�� 	���'��'��$-�� (1500 mg/l)  *��0��
���!#��51
��*���� 13.01 L/m2.hr ���>�02�)��� 37 

 	���'��'��'�����2?����-�<��)��2�
��7'����.>� �.#
����
1�<� ��,-�������
�����)����&�2�
��7�.#
����
1(<��������	������6
	'��������� ����&� 	��$�������������
�<� ��$������&#6*���)$-���	*���,-����
�������2?����-�� 	���'��'��$-��  ���>�02�)��� 37 %#) 
38 0�	*����2?����-�� 	���'��'���<� (	�����<2'�����%'	�#�
) �)�&� *��0��
���!#��51��-$-��
�	*� 	���'��'��'�����2?��$-����,-����� 	���'��'���<��)����.>� �.#
����
1'���������
��� ����&�
����.�$��%#) 	��&��%�*�'��� �����'�������&���
�����.�$�����'��� %������%0�*'����.>� 
���>�02�)��� 39  	��$������'����������<� ���#)#�
����&#6*������������$-�� *�
�0��
���!#��51���#�#� ��*����
	������	
��
'�� Katayon  (2000) ��������������6#��)��'��
 	���'��'��'�� MLSS $*�2�)�
�:
>�0'�� Membrane bioreactor ���&�������������������
���
�������.$��&������&�� ��
�������������#����- 	���'��'��'�� MLSS $-��%#)�<� 5�-�0�	*�
 	���'��'��'�� MLSS $-���&� *���������� Suspended Solid %#) *� 	��'.*������� ��
�����(
���������%'	�#�
 (Suspended Solid) ���(�� 99.2% %#)������ 	��'.*�����2���(�� 99.73% %#) *�
'���0��
���!#��51����)�	������- 	���'��'�� MLSS $-���� *���*���� 5.03 L/m2.hr 5�-��� *��<��	*�
�����#����- 	���'��'��'�� MLSS �<�5�-���- 	���'��'���<���� �0��
���!#��51��- 2.27 L/m2.hr %#)
���������0
-��$
� 0�	*������� Horizontal Membrane Module �����(������  	��'.*� (Turbidity) 
%#)���%'	�#�
 (Suspended Solid) %#)�&� *��0��
���!#��51�<��	*� ��,-����
����%�� 
Vertically Membrane Module 
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$%��	
� 37   %��� 	�����0��:1�)&	*���0��
���!#��51����	#����&�����������������
 

   	���'��'�� SS '�����2?��$*�������- 1,500 %#) 3,500 mg/l 6*���5##<�#� 
 ���$���������'��� 5 micron ��- 	����� 15 psi %#)��$������&# 1.25 Lpm 
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#
$%��	
� 38   %��� 	�����0��:1�)&	*���0��
���!#��51����	#����&�����������������
                  
     	���'��'�� SS '�����2?��$*�������- 1,500 %#) 3,500 mg/l 6*���5##<�#� 

 ���$���������'��� 5 micron ��- 	����� 5 psi %#)��$������&# 1.75 Lpm 
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      	���'��'���<� (3500 mg/l)    	���'��'��$-�� (1500 mg/l) 
#
$%��	
� 39   %���#���7)����.�$��%#)���%0�*'����.>� �.#
����
1'���������
���&��� 
                              	���'��'��'�����2?����- 3, 500 mg/l %#) 1,500 mg/l 
��-��: ��$�� �
�)��$�����1, 2541 
 

2.5 %�����R�#
$�
�	
�	�
� 

  ���6#�����#����������.#
����
1���������
 ��
��� �!"#�$����%������&#
'	�� 2�)�
�:
>�0'����������)�2��
����
���� *�'�����%'	�#�
�*��%#)&#���������
'���������
��
0�	*�2�)�
�:
>�0'����������<���� 5�-������(�������%'	�#�
���(�� 
99.73% %#)6#0#�
����������������%'	�#�
 ����&� *�5�������-�
<*���<2'�����%'	�#�

#�#� 5�-� *�5��������6#�����#�������(#�#����(�� 58.10% ���%�����>�02�)��� 40 
#���7)����$
'���������
�*���������%#)&#��6*�����������	
�)����� �!"#�$���� %�����
$���� 12 %#) 13 $��#����� �*	�#���7)'���������
�*���������%#)&#���������%�����
>�02�)��� 41 %#) 42 $��#����� ��*����
	������	
��
'�� Yamamoto (1989) ��-��������
2�)�
�:
>�0������������������
��	
��� �!"#�$�����������'����<0�.� 0.1 micron 5�-�0�	*�
�����(#� *�5���������<�(�� 95% 
 
�
�
� 12  	���'��'�� SS '�����2?��%#) .7����$
'�������*��������� 

    
(6#'�� *�5������2;�6#�/#�-
 3  ����������	�� �������
$�	�
*����-$����
���	��&�$�$)����2;��	#� 30 
���� %#)����*	���-����	
� ��)&1) 

 	���'��'��'�����2?�� ( mg / l ) COD (mg/l) 

3,500                                     152                  

2,500                                     138                  

1,500                                     105                  
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�
�
� 13   6#5����� ���%'	�#�
%#)�0��
���!#��51'���������
&#�����6*�����������	
 
     ��� �!"#�$����%������&#'	�� 
 

  

�����#����-

 	���'��'�� SS 

'�����2?�� (mg/l)

'����<0�.�'��������� 

(micron)

 	����� 

(psi)

��$������&# 

(Lpm) 5����� (mg/l)

 	���'��'�� SS '��

�0��
��� (mg/l)

�0��
���!#��51 

(L/m2.hr)
1 0.1 5 1.25 25 3.2 11.13
2 0.1 5 1.75 20 3.4 23.16
3 0.1 15 1.25 20 3.5 11.08
4 0.1 15 1.75 22 3.7 14.63
5 5 5 1.25 36 4.76 19.63
6 5 5 1.75 44 4 27.58
7 5 15 1.25 44 7.5 13.01
8 5 15 1.75 20 3.39 16.89
9 2500 1.2 10 1.5 30 4 9.38
10 0.1 5 1.25 35 4.3 9.4
11 0.1 5 1.75 40 6.2 19.98
12 0.1 15 1.25 38 4.8 9.57
13 0.1 15 1.75 38 5 13.98
14 5 5 1.25 40 6.3 14.06
15 5 5 1.75 46 6.5 23.47
16 5 15 1.25 42 6.5 11.16
17 5 15 1.75 28 5.88 15.52

1500

3500

 
 
 

SS COD

1500 mg/l

4 mg/l 99.73% 105 mg/l
44 mg/l 58.10%
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������������������	������	


 	���'��'���*���������

 	���'��'��&#���������

%Reduction

 
#
$%��	
� 40  %���2�)�
�:
>�0'����������������
 	���'��'�� SS '�����2?�� 1500 mg/l 
                            ��
�)����� �!"#�$����%���&#'	�� 6*���5##<�#����$���������'���  
                             5 micron ��-  	����� 5 psi ��$������&#'�����2?����- 1.75 Lpm %#) 
                              *�5����� 105 mg/l 
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#
$%��	
� 41  %���>�0�������
$�	�
*������*��$
������'���)��������%��$)�����*���� 
               ��������&���)�#%�*%'+���- 	���'��'�� 1,500 mg/l 
 
 
 
 

 
 
 

 
#
$%��	
� 42   %���>�0�������
$�	�
*��&#�����������	
��� �!"#�$����%���&#'	�� 

 6*���5##<�#����$���������'��� 5 micron ���&�����������������
��-   
  	���'��'�� 1500 mg/l  	����� 5 psi %#)��$������&# 1.75 Lpm  
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2.6 ��	
�����(�
����$��R��
�����%��'
�4 �'
('
!$
��!
�5��	6� 

  ���&� 	�����0��:1'��$�	%2�$*��A��-��6#$*�  *��0��
���!#��51�����(��.2���
���6#�����#��'���.������#����-���%����
�2�%��� Response Surface Method ���%���
��$���� 13  *�'���0��
���!#��51��
���&� 	�����0��:1����2�%��� Response Surface 
Method (RSM) 5�-� 	�����0��:1���<2'�������%����������� (11) 
 

               Flux (L/m2.hr) = 5.608 +9.074Q2 -1.315QP+ 0.082P2-0.001C           (11)    
 

��,-�  Q = ��$������&#'�����2?�� (���*	� 1.25-1.75Lpm) 
 P =  	���������������
���� (���*	� 5-15psi) 
 C =  	���'��'��'�����2?�� (���*	� 1500-3500mg/l) 
 

5�-� 	��%�*�
��'������������(�<������ *����2�)�
�:
 	��(�(�
 (Linear 
Regression Coefficient) ��
 *� R2 ��#�� �
� 1 &��
(��������)�� 	��%�*�
���<� %#) *� R2 ��-���
���6#�����#���� *���*���� 0.967 

������	
� ��)&16#'��������)�&+����	*�$�	%2� ��-�� 	����� �4$*� *�
�0��
���!#��51�<���-�.���-� ,� ��$������&#'�����2?�� &��
(�� �����
�%���/,���<���
6
	&�����������)����&���.>� '���.#
����
1��*�����(���)$
�6
	&������������� ����������
#� 	��$��������
��#'������!�	#
� %$*2���e���71����#*�	'���$���)��*��
�'���(��
�����
���� ��
��� 	������<��*	������$������&#�<� 5�-��2;���*����
	����������&����
��	
���������#$��!"#�$���� (Cheryan (1998)) %������>�02�)��� 17 

 
3. �G%����
�	
�
7����W�	
�	�
� 
  ���������������<2%��'������.�$�� ����)�	��������%
�$)����.#
����
1 
��,-�������������
����������	
���������,-������
�����2�)
)&��-� ��������)��
�����.�$��
����&����#)#�
��-6*���������#����
#� ��������������2;�$�������������#���7)����.�$��'��
��������0,-����&��	
:����#������ 	���)������������	
	
:���-�&��)�� �0,-��&����������
�>�0��#�� �
���������&�*�����-�.�%#)
,���
.���������'��������� ��
���2�)
.�$1���
�����'�� Hermia (1992) �0,-���-�)�����#���7)����.�$��	*��2;�����.�$��%�� Complete 
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blocking model Intermediate model Standard blocking model &�,� Cake filtration model ��
&�
 	�����0��:1'����������$���� 14 
 
�
�
� 14 �����%��� 	�����0��:1���&�������#'������.�$��'�� Hermia (1992) 

����# �����  	�����0��:1'��
���!����$�� 

�����
��- 

Complete 
blocking 

VKJJ b−=
0

 0#}�$���!�)&	*�� 
J ��� V 

(12) 

Intermediate 
blocking 

tK
JJ

i+=
0

11  0#}�$���!�)&	*�� 

J

1 ��� t 

(13) 

Standard 
blocking 2

1

0

VK

J

J s−=  
0#}�$���!�)&	*�� 

0
J

J ��� V 

(14) 

Cake 
filtration 

VK
JJ

c+=
0

11  0#}�$���!�)&	*�� 

J

1 ��� V 

(15) 

 
��,-�  Kb = constant value for complete blocking model (1/m

2.hr) 
        Ki = constant value for intermediate blocking model (m

2/L) 
        Ks = constant value for standard blocking model (1/L) 
        Kc = constant value for cake filtration model (m

2.hr/ L2) 
        J   = permeate flux (L/m2.hr) 
        V  = volume (L) 
        t    = time (hr) 
 

���'���<#��-�����������#���������� plot graph �0,-�&� 	�����0��:1��%$*#)
�������
��������&�������#'�� Hermia (1992) �2;������ 	�����0��:1��
�����&����

$���
���� *����2�)�
�:
� 	��(�(�
 (Linear Regression Coefficient) �&� *� R2 ��#�� �
� 1 ��-� ,�
���!�)��#���7)�2;�����$�� &��
(������.�$�����&�����������.#
����
1'���������
�����2;��2
$������#����#*�	 
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  3.1 %��� *����2�)�
�:
� 	��(�(�
��%$*#)����#'������.�$�����&������
��#����������������
��- 	���'��'�� 1,500 mg/l ��- 	����� 15 psi ��$������&#'�����2?�� 
1.75 Lpm %#)��-�������'��� 5 micron 
 
 

Complete Blocking

y = -1185.6x + 110.31

R2 = 0.7359

0

20

40

60

80

100

120

0 0.02 0.04 0.06 0.08 0.1V

J

 
#
$%��	
� 43 %��� 	�����0��:1�)&	*���0��
���!#��51(J) ���2�
��$� (V) ���&����������               
  �������
 	���'��'�� SS '�����2?�� 1,500 mg/l 6*���5##<�#����$��������� 

'���  5 micron ��- 	����� 15 psi %#)��$������&# 1.75 Lpm 
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Intermediate Blocking

y = 0.0003x + 0.0121

R2 = 0.9766

0.0000

0.0100

0.0200

0.0300

0.0400

0.0500

0.0600

0.0700

0 20 40 60 80 100 120 140 160 180 200
t

1/J

 
#
$%��	
� 44    %��� 	�����0��:1�)&	*���*	��#��'���0��
���!#��51(1/J) ����	#� (t)  
                              ���&�����������������
 	���'��'�� SS '�����2?�� 1,500 mg/l 6*���5##<�#� 
    ���$���������'��� 5 micron ��- 	����� 15 psi %#)��$������&# 1.75 Lpm 

 

  
#
$%��	
� 45  %��� 	�����0��:1�)&	*��        ���2�
��$� (V) ���&�����������������
 	�� 

�'��'�� SS '�����2?�� 1,500 mg/l 6*���5##<�#����$���������'��� 5    
micron ��- 	����� 15 psi %#)��$������&# 1.75 Lpm 

0
J

J
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#
$%��	
� 46   %��� 	�����0��:1�)&	*�� �*	��#��'���0��
���!#��51(1/J) ���2�
��$� (V)  
                              ���&�����������������
 	���'��'�� SS '�����2?�� 1,500 mg/l 6*���5##<�#� 
                              ���$���������'��� 5 micron ��- 	����� 15 psi %#)��$������&# 1.75Lpm 
 

3.2 %��� *����2�)�
�:
� 	��(�(�
��%$*#)����#'������.�$�����&������
��#����������������
��- 	���'��'�� 3,500 mg/l ��- 	����� 5 psi ��$������&#'�����2?�� 1.75 
Lpm %#)��-�������'��� 0.1 micron 
           

Complete Blocking

y = -470.12x + 45.942

R2 = 0.8535

0

10

20

30

40

50

60

0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08
V

J

 
#
$%��	
� 47   %��� 	�����0��:1�)&	*���0��
���!#��51(J) ���2�
��$� (V) ���&���������� 
 �������
 	���'��'�� SS '�����2?�� 3,500 mg/l 6*���5##<�#����$��������� 
                             '��� 0.1 micron ��- 	����� 5 psi %#)��$������&# 1.75 Lpm 
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Intermediate Blocking 

y = 0.0003x + 0.0243

R2 = 0.9682

0.00

0.01

0.02

0.03

0.04

0.05

0.06

0.07

0.08

0 20 40 60 80 100 120 140 160 180 200
t

1/J

 
#
$%��	
� 48   %��� 	�����0��:1�)&	*���*	��#��'���0��
���!#��51(1/J) ����	#� (t)  
                             ���&�����������������
 	���'��'�� SS '�����2?�� 3,500 mg/l 6*���5##<�#�   
    ���$���������'��� 0.1 micron ��- 	����� 5 psi %#)��$������&# 1.75Lpm 
 
 

           
#
$%��	
� 49   %��� 	�����0��:1�)&	*��        ���2�
��$� (V) ���&�����������������
  
                  	���'��'�� SS '�����2?�� 3,500 mg/l 6*���5##<�#����$���������'���    
                             0.1 micron ��- 	����� 5 psi %#)��$������&# 1.75 Lpm 

0
J

J



 75 

         

Cake Filtration

y = 0.8021x + 0.0098

R2 = 0.998

0.00

0.01

0.02

0.03

0.04

0.05

0.06

0.07

0.08

0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08V

1/J

 
#
$%��	
� 50   %��� 	�����0��:1�)&	*�� �*	��#��'���0��
���!#��51(1/J) ���2�
��$� (V)  
                 ���&�����������������
 	���'��'�� SS '�����2?�� 3,500 mg/l 6*���5##<�#� 
    ���$���������'��� 0.1 micron ��- 	����� 5 psi %#)��$������&# 1.75Lpm 
 
 ���6#�����#��%#)���&� 	�����0��:1'������.�$��0�	*� �.������#���)
��
�����.�$���2;�%�� Cake Filtration Model ��
�����(�:
��
���������.>� ���&�������.�
$��%�� Cake Filtration Model ��-��'�����.>� $*��A ��� ,� ��.>� ��-�&4*�	*��<0�.��)(<��)��
%#)��
��2;�� ����-6
	&���������� (����.>� ��'����#+�%#)�&4*6����� ��.>� '����#+��)
(<��)���
<*>�
���<0�.�%#)$*����)��
�����)��'����.>� '����&4* ��
��2;�� ����-6
	&���
������� ������-�.�������������(������#�.# &�,���.>� '����#+��	���
��2;����������
������� (��7�(���2;����#�.#���
� ��# %#)(���2;���.>� ���
� � ��) 5�-������(������
,�
��
6#�����#�������
�������#����.#�����1%���*������ &�,� scanning electron microscopy 
(SEM) �2;��2�����-�)�&+�����'�������
�!�	#
� (fouling layer) ���>�02�)��� 51  52  53  54  
55 %#) 56 
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#
$%��	
� 51  %���>�0'
�
'���5##<�#����$���������'��� 1.2 micron ��-
����*6*�� 

               ���������
������#��'
�
 10,000 ��*���	
�#����.#�����1%���*������ 
 

 
 
#
$%��	
� 52   %���>�0'
�
������$��'	����
�#����.#�����1%���*������'��������� 
    ��-6*����������.#
����
1'���������
��
%��������
�����.�$����6
	&���'�� 

�5##<�#����$���������'��� 1.2 micron &#����������������
 	���'��'�� 
SS '�����2?��  1500 mg/l ��-��$������&# 1.5 Lpm  	����� 10 psi ��
���
���#��'
�
 10, 000 ��*� 
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#
$%��	
� 53   %���>�0'
�
'��� ����6
	&���'���������&#�������������.#
����
1'�� 
                             �������
 	���'��'�� SS '�����2?�� 1500 mg/l 6*���5##<�#����$��������� 
                             '��� 1.2 micron ��-��$������&# 1.5 Lpm %#) 	����� 10 psi ��
������#�� 
                             '
�
 10, 000 ��*���	
�#����.#�����1%���*������ 
 

   
 
#
$%��	
� 54   %���>�0'
�
'���5##<�#����$���������'��� 5 micron ��-
����*6*�����     
                             �����������
 ��
������#��'
�
 5, 000 ��*���	
�#����.#�����1%���*������ 
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#
$%��	
� 55   %���>�0'
�
������$��'	����
�#����.#�����1%���*������'��������� 
                             ��-6*����������.#
����
1'���������
��
%��������
�����.�$����6
	&���'�� 

  �5##<�#����$���������'��� 5 micron &#����������������
 	���'��'�� SS    
 '�����2?�� 1500   mg/l ��$������&# 1.75 Lpm  	����� 5 psi ��
������#�� 
 '
�
 5, 000 ��*� 

 

 
 
#
$%��	
� 56   %���>�0'
�
'��� ����6
	&���'���������&#�������������.#
����
1'�� 

�������
 	���'��'�� SS '�����2?�� 1500 mg/l 6*���5##<�#����$��������� 
'��� 5 micron ��-��$������&# 1.75 Lpm %#) 	����� 5 psi %#) ��
������#�� 
'
�
 5, 000 ��*���	
�#����.#�����1%���*������ 
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  ������
,�
��6#��
 SEM �+�����(�)�.���	*��������%
�$)����.#
����
1��
��)�	������� �!"#�$����%������&#'	������&���
�����.�$��'���������%�� Cake 
Filtration Model 5�-�����&������(���&��	
:����#���'��������������
�*�
 ��
�*	��&4*����.�$��
��-������)����-6
	&��������������	*�����.�$�����<0�.� �)�

���������� 	���)����������%��
�����
>�0��-� ,� ���������#����#����� (Back washing) 5�-���������
���2?�����#)#�
>�
�$�
 	������'����������0��
��� 5�-��)����&����#)#�
�������.�$��&#.�������������� ���#���
�#������������)&	*��������� ��*� ���� 30 ����%#�	2?�����#)#�
�#����� 2-3 �����2;�$�� 
&�,���������,-����+��
��������� ,�#����#�������	
����&�,������� 	���)��� $�	�
*����*� ��
���������2�$
���%6*���������#	��2;����2?�����#)#�
�����������
 %$*�����#����#�����
�2;����2?�����������������
 '��������'��	
:���� ,� �.2��71�)$�����������%���/0�)�&���
���#����#��������  
  �������#'������.�$��'�� Hermia (1992)  %#)���
,�
��6#��	
 SEM 0�	*�
��������.#
����
1'���������
��	
��� �!"#�$����%������&#'	�� ��
�����.�$��%�� Cake 
filtration model ��6
	&���'�����������
��,-���������#����
���#���6
	&���������� %#�	
����#��������&�*��� ���� ��
�����������#����- 	����� 5 psi ��$������&#'�����2?����- 1.75 
Lpm '������������- 5 micron %#) 	���'��'��'�����2?����- 1,500 mg/l 0�	*�  *�!#��51�� *�
#�#� 38% ��
 *�!#��51�)#�#���� 27.58 L/m2.hr �&#,��0�
� 17 L/m2.hr %#) *� COD �� *�
��*���� 45 mg/l %#) *����%'	�#�
 �� *���*���� 7.3 mg/l 
 
4. 	
�_̀	�
('
(�
��P
��
�!��!���(Membrane Resistance) ���(�
��P
��
��
		
�
7���� 

(Fouling Resistance) 
  4.1 	
�_̀	�
('
(�
��P
��
�!��!��� (Membrane Resistance, Rm)  

����������������'�� DarcyTs Law    5�-������(�����2�)
.�$1�0,-���������
�����
 *��0��
���!#��51���&��� transmembrane pressure $*��A ��������� 

 

                                                ( )
( ) ( )

fmt
RR

P

R

P

dt

dV

A
tJ

+

∆
=

∆
==

µµ

1                (16) 

 
J = Permeate flux (m3/(m2h)) 
V = total volume of permeate (m3) 
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A = membrane area (m2) 
P∆  = TMP (Pa) 
µ  = Permeate viscosity (Pa.s) 

tR = total resistance (m-1) 

mR = intrinsic membrane resistance (m-1) 

fR = fouling resistance (m-1) 
 
���&������&� *� Membrane Resistance ��������
���&� *����!#��51'�������#�-��������� (17) 
 ,�   

     
m

T

w
R

P
J =                                         (17) 

 
       4.1.1 ��������#���0,-�&� *�!#��51'�������#�-� ��- 	�����$*��A���&��� 

�������'��� 5 micron ���6#���$���� 15 
 

�
�
� 15  %���6#'�� 	��$����������������&���������� 5 micron 

       ��	!�������       

(Membrane size, micron)

      ��	�!��       

 ( Pressure,psi)

����	�	���� 

(Feed rate, Lpm)

���	"��	����
 

(time,min)

�#$	�����%����
�! 

(g)

��	��	��	�������� 

(Membrane resistance,m
-1)

5 702.07

10 862.69 6.48x10
8

15 963.48

5 1695.11

10 1770.05 6.86x10
8

15 1820.02

5 2314.12

10 2486.61 7.23x10
8

15 2587.351.5

5

10

15

5 1.5

1.5

 
 *� Membrane Resistance �� *���#�� �
������������&� *��/#�-
���&��� *� Membrane Resistance 
���&���������� 5 micron  ,��� *���*���� 6.86x108 m-1 
 

       4.1.2 ��������#���0,-�&� *�!#��51'�������#�-� ��- 	�����$*��A���&��� 
�������'��� 0.1 micron ���6#���$���� 16 
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�
�
� 16  %���6#'�� 	��$����������������&���������� 0.1 micron 

       ��	!�������       

(Membrane size, micron)

      ��	�!��       

 ( Pressure,psi)

����	�	���� 

(Feed rate, Lpm)

���	"��	����
 

(time,min)

�#$	�����%����
�!

 (g)

��	��	��	�������� 

(Membrane resistance,m
-1)

5 49.74

10 107.33 3.90x10
9

15 156.48

5 90.16

10 240.12 4.06x10
9

15 307.11

5 180.12

10 320.16 4.03x10
9

15 465.64

0.1

5 1.5

10 1.5

15 1.5  
 *� Membrane Resistance �� *���#�� �
������������&� *��/#�-
���&��� *� Membrane Resistance 
���&���������� 0.1 micron  ,��� *���*���� 4.0x109 m-1 
 

      4.1.3 ��������#���0,-�&� *�!#��51'�������#�-� ��- 	�����$*��A���&��� 
�������'��� 1.2 micron ���6#���$���� 17 
 

�
�
� 17  %���6#'�� 	��$����������������&���������� 1.2 micron 

       ��	!�������       

(Membrane size, micron)

      ��	�!��       

 ( Pressure,psi)

����	�	���� 

(Feed rate, Lpm)

���	"��	����
 

(time,min)

�#$	�����%����
�!

 (g)

��	��	��	�������� 

(Membrane resistance,m
-1

)

5 506

10 596 9.10x10
8

15 686

5 1090

10 1230 9.53x10
8

15 1310

5 1330

10 1580 10.76x10
8

15 1740

1.5

15 1.5

1.5

1.2

5

10

 
 *� Membrane Resistance �� *���#�� �
������������&� *��/#�-
���&��� *� Membrane Resistance 
���&���������� 1.2 micron  ,��� *���*���� 9.80x108 m-1 
 
   *� 	��$������'������������&���'����<0�.�$*��A��-&������������������
�#�-� %������$���� 18 
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�
�
� 18  %���6#'�� 	��$����������������&����������'����<0�.�$*��A 

 ��
�!��!��� (Membrane size, micron) (�
��P
��
�!��!��� (Membrane resistance,m-1) 

0.1 4.0x109  

1.2 9.80x108 

5 6.86x108  
 

4.2 _̀	�
('
(�
��P
��
��
		
�
7���� (Fouling Resistance, Rf)  

��������'�� DarcyTs Law ��
��� *� Membrane Resistance ��� 4.1 %#)
�������- (15) ��2�)
.�$1������ *��0��
���!#��51��-�����������#���	��*��&������ ��
 *� Rf ��-���
%������$���� 19 
 

�
�
� 19  %���6#'�� Fouling Resistance ���&��������#������������ �!"#�$����%�����     
    �&#'	�� 

  

���

��#����-

 	���'��'�� SS 

'�����2?�� (mg/l)

'����������

 (micron)

 	����� 

(psi)

��$������&#'��

���2?�� (Lpm)

�0��
���!

#��51 (L/m2.hr)

 	��$����������.�$��,

Rf (x1010m-1)

1 0.1 5 1.25 11.13 12.54

2 0.1 5 1.75 23.16 5.82
3 0.1 15 1.25 11.08 38.99
4 0.1 15 1.75 14.63 29.13

5 5 5 1.25 19.63 7.27
6 5 5 1.75 27.58 5.15
7 5 15 1.25 13.01 33.14
8 5 15 1.75 16.89 25.51

9 2500 1.2 10 1.5 9.38 30.61

10 0.1 5 1.25 9.4 14.92

11 0.1 5 1.75 19.98 6.81

12 0.1 15 1.25 9.57 44.74

13 0.1 15 1.75 13.98 30.5

14 5 5 1.25 14.06 10.17

15 5 5 1.75 23.47 6.07

16 5 15 1.25 11.16 38.64

17 5 15 1.75 15.52 27.77

1500

3500
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�
�
� 20 %��� *� Fouling Resistance ��- 	�����%#)��$������&#����������
����$*��A 
                  
 

 

��� *� Fouling Resistance 0�	*������
�����.�$�����&������������%$*#)
'��� ����.�$�� �)��
�������&�����������
������- 	������<���,-�������������
������
���
�0
-� 	������)����&���.>� '���.#
����
1(<�%�������-�<��	*����$�	�����6
	'��������� ��
����
�.�$����6
	'������������'��� ������#���2���e���71 ���5��$���-��0#����5���/� �� (<����
%�*����'��� ����&������(������$�	(<�#)#�
������%#)����0
-���$������&#'�����2?���)����&�
��
�%���/,��'�����6
	&���'��������� ����&����#)#�
��*�����(���)$
�6
	&���'������������
����&� 	��$����������.�$��#�#���,-���$������&#�0
-�'���  
  
 ���6#�����#���)�&+����	*� *� Membrane Resistance %#) *� Fouling Resistance �� *�
%$�$*�������� 5�-���� ���	7&� *��0��
���!#��51�����(������$������'�� Membrane 
Resistance �����
 *��0��
���!#��51��*������2#�-
�%2#� %#)������
,�
��6#������ ���	7
���$*��2��� 
  ���&� *��0��
���!#��51���&�����������
���������������
��- 	���'��'�� 2500 
mg/l ��-  	����� 10 psi ��$������&#��- 1.5 Lpm ��	
�������'��� 1.2 micron 
��������'�� DarcyTs Law 
 

    ( )
( ) ( )

fmt
RR

P

R

P

dt

dV

A
tJ

+

∆
=

∆
==

µµ

1  

P = 10 psi = 0.68x105 Pa 
Rm ���&����������'��� 1.2 micron = 9.8x10

8 m-1 

(�
���� 

(Pressure,psi) 


���
	
�IJ� 

(Feed rate, Lpm) 

(�
��P
��
�	
�
7���� 

(Fouling  Resistance , m-1) 
5 1.25 11.22 x1010 
5 1.75 5.96x1010 
10 1.50 30.61 x1010 
15 1.25 31.9x1010 
15 1.75 28.23x1010 
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Rf ���&����>�	)��������
������������#*�	 = 30.61x10
10 m-1 

µ  = 0.085 Pa.s 
 
    J = (0.68x105) x 1000 x 3600 / (0.085 x (9.8x108 + 30.61x1010)) 
    J = 9.38 L/m2.hr 
 
  �0,-�������
,�
��6#	*� *� Membrane Resistance �� *����
�	*� *� Fouling 
Resistance �����,-�$������'�� Membrane Resistance ����� ���	7�)��*�*�6#$*� *��0��
���!#��51 
���$*��2��� 
    J = (0.68x105) x 1000 x 3600 / (0.085 x (30.61x1010)) 
    J = 9.40 L/m2.hr 
 
  5�-��2��
����
����6#�0��
���!#��51������ ���	7��	
�����'�� DarcyTs 
Law 5�-���� *���*���� 9.38 L/m2.hr 0�	*����$������'�� Membrane Resistance �)�&�6#��-%$�$*��
����0�
� 0.2%  

Membrane Resistance ��6#$*� *��0��
���!#��51���
��� 5�-� Membrane 
Resistance �)�� 	�����0��:1���'���'��������� �������'���'��������������*��6#$*� *�
�0��
���!#��51���&��������#����� ��
���0��:1�������� (10) ��-������������6#�����#���2
&� 	�����0��:1�)&	*�� *��0��
���!#��51���$�	%2�$*��A ��
���������#*�	'���'���������
�)��*�*�6#$*� *��0��
���!#��51 %#)���%���6#'���0��
���!#��51��-��������#���2��
����
�
����0��
���!#��51��-����������� (10) %#)�����'�� DarcyTs Law ��
$������'�� Membrane 
Resistance ���$���� 21 %#) >�02�)��� 58 
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�
�
� 21  %���6#'�� *��0��
���!#��51��������#��%#)�����$*��A  

���

������	


���
���
��� SS

 ���������� 

(mg/l)

�����

���� 

(micron) ���
�#� (psi)

�#&�����'(�

���������� 

(Lpm)

J1 

(L/m
2.
hr)

J2 

(L/m
2
.hr)

J3 

(L/m
2
.hr)

1 0.1 5 1.25 11.13 12.12 11.48

2 0.1 5 1.75 23.16 23.94 24.74

3 0.1 15 1.25 11.08 13.58 11.20

4 0.1 15 1.75 14.63 17.33 14.83

5 5 5 1.25 19.63 13.62 19.81

6 5 5 1.75 27.58 23.94 27.96

7 5 15 1.25 13.01 13.58 13.04

8 5 15 1.75 16.89 17.33 16.93

9 2500 1.2 10 1.5 9.38 12.00 9.41

10 0.1 5 1.25 9.4 10.12 9.65

11 0.1 5 1.75 19.98 23.94 21.15

12 0.1 15 1.25 9.57 13.58 9.66

13 0.1 15 1.75 13.98 17.33 14.16

14 5 5 1.25 14.06 13.62 14.16

15 5 5 1.75 23.47 23.94 23.72

16 5 15 1.25 11.16 13.58 11.18

17 5 15 1.75 15.52 17.33 15.56

1500

3500

 
 
J1 =  *��0��
���!#��51��-�����������#�� 
J2 =  *��0��
���!#��51��-���������&� 	�����0��:1��	
�2�%��� Response Surface Method 
J3 =  *��0��
���!#��51��-�����������'�� DarcyTs Law ��
$������'�� Membrane Resistance. 
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#
$%��	
� 57 %��� *��0��
���!#��51���6#�����#���2��
����
����6#��������$*��A 
 


